300
488
588

[2s-20-

1972 (s47) 300
1973 (s4%2) 488
/774 (s41)588

v*t 002—%8_(3"0-“l




300
488
588 7 L — LI




300

488
ZL—LES 588
B & T 5
R a g s | ERRAES woE A B I el s
1 002-2410 1241-1 ANYFALTU— 4 1
2 822-4302 1241-4 7Yy 7 2
3 710-1001 1241-11 F— A7 U— 1
4 911-9290 1241-12 TERMAME » €% 2 35X10 (4 )| 4
5 002-2010 2201 A4 YT VU—a 1
6 916-1205-F| 1201-4 Fv b (W. SWA) M8 4
7 002-4190 419-4 TVIREA T b - TPV T 190432 1 88 F9
8 825-0002 1256-5 X F— N K= 8¢ 3
9 704-0201 419-1 E ) 1
10 704-0202 2418-1 WHERz 77— 1 | BEs
11 910-4191 2418-2 RATSIEA 2 M8 X8 1 "
12 831-2342 | 2418-3 Vb A-42 1 "
13 941-2394 419-2 ST E— 1./4"X1,/4"%62| 1
14 910-4191 419-3 NEFTAIER Y M8 x8 1
15 901-2053-D| 1241-7 Kb (N. SWH) M10X25 4
16 002-4040 1404 L7 v — & 1
17 002-4160 416-1 ) 2 | BB
18 906-1224-G| 416-2 ARALERL P (N. W. SWH) M8Xx25 4
19 002-4170 417-1 9l5ips] 1
20 906-1223-D| 417-2 ARLE L P (N. SWH) M8Xx20 2
21 002-0230 1256 T K Assly 178 B g 2
21-1 | 002-3010 301-1 K 1 11:1:%%4 t
21-2 | 002-2560 1256-1 IAKA RN 1
21-3 | 901-2017-D| 301-2 Ar b (N. SWH) M6X20 5
22 910-4132-A| 1256-4 RARMIEX Y (NfF) M10X20 3
23 931-1117 1256-3 EV A P YA 3X25 1
24 302-1 ¥a—} ¢))
25 906-1238-E| 302-2 BRALEKXV M (N. N. W) M10Xx25 (2)
26 906-1239-C| 302-3 " (W. WAt) M10X30 2
27 822-3402 1247 T AKED 2
28 901-4053-F| 1404-12 R r (W. SWAEH) M10x25(8T) | 4
29 002-4260 1426-1 Nk os— 1
30 920-1204-F| 1426-4 #er oy b ((W. SWAHH) M6 2
31 821-1001 428 == 178
32 834-0001 1241-10 hT— 2
33 229 INFKNY P Ass'y 148
33-1 | 002-2290 229-1 TR P oN— 1
33-2 | 930-0230 229-4 CREV 3X25 1
33-3 | 929-2206 229-3 SRR S M10 1 B A6 341
34 833-1201 422 IAXRYaA b Assy 148 | ~34-42 1
34-1 422-1 V77—t #80 (2) | *BE
34-2 —_— 422-2 K— (2)
34-3 422-3 IRV a4 b 2)
34-4 | 931-1133 422-4 27) I 5X28 (2)
35 002-2570 257-1 TR 1
36 931-1117 422-6 RF) I 3X25 2
37 706-1203 429 AT s 1
38 929-2206 257-4 FES M10 1
39 931-1115 257-3 2T s 3%x20 1
40 002-2940 1256-2 IARE=Fy 1







)

300

. an 488
L/s—8B 588
= = =
S %T%BZ'E&%; %E%Bu;jﬁ% woo & B A & | ‘ ﬁ B
1 002-3170 | 1317 AR~ > P 1 I
2 002-2280 228 EFF2 5y Fr P 1
3 002-2190 1219 B 2 |
4 002-3240 1324 VARA—F =z b (A) 1
5 002-2240 224 " (&) 1
6 929-2206 228-2 SRR 4 M10 4
7 002-4300 1430 R7Y 1
8 930-0230 228-3 Ee 3X25 2
9 002-4310 431 ART) s 1
10 706-1204 1323 " 2
11 916-4206 226-2 Fv b () M10 8
12 929-2209 1322-2 T4 M16 1
13 002-3220 | 1322-1 Ny Ry (F) 1
14 002-2250 225 " (&) 1
15 002-2260 226-1 259 FTIS¥ A bry N 1
16 002-2270 227-1 FTry¥ary7YyXbay 1
17 002-2440 244-1 Voi—ER b () 1
18 002-2920 244-2 " (E) 1
19 929-2206 226-3 FRES ' M10 2
20 930-0230 226-4 [ 3X25 2
21 002-2460 246-1 H T — 2
22 901-2037-G| 246-2 A b (N. W. SWAHH) M8X40 3
23 002-2930 1245-1 EEe o M 1
24 929-2205 1245-5 SPRES M8 2
25 930-0230 1245-4 % 3X25 4
26 002-2450 1245-3 oy F 1
27 002-2510 251 Vo= R b 1
28 705-1206 252 RT) 1
29 929-2206 1245-6 SFEES Mi10 2
30 002-2230 223-1 Vot —g 1
31 930-0230 223-2 E R 3X25 2
32 002-3210 1321-1 /N 1
33 901-2032-F| 1321-2 A h (W. SWH) M8xX16 1
34 705-1204 1318 HHRTY s 1
35 002-2490 249-1 FrvavEgEny V¥ 1
36 929-2204 249-2 SFRES Mé6 2
37 930-0228 249-3 TR 3X20 2
38 002-3200 1320-1 & 1
39 916-3205-B| 1320-3 + v b ( SWAHH) M8 (3%&) 1
40 002-2620 1262 2e—g v yRAT 4% 1
41 002-3190 1319-1 k& 1
42 908-1236-D| 1319-2 FuhF v (N. SWA) M6x12 1
(43) 002-2800 T erAT A4 X 1
(44) |002-2840 _ S A 1




300
488 .
588 7O —, F—HE




300

. ‘ ... 488
7a7—, ##—4HE 588

D

Bl o & B 5 w8 4 % ® ok |mEm wm E
HTHRES | IBNRES .
1 002-0220 401 Vit —AXY Ky 7R Ass’y 14— B 1-1~
004-0220 ” ” 174 1-18,1-20,
1-211¢

1- 1/002-4010 401-1 VA —AFYKRy 2R 1 LEHM&I—1~
1- 2(815-1201 401-3 Hihz 1 1-12,11,
1- 3/952-1201 401-4 7 PT1.8 1 1-14~1-18,
1- 4/002-4140 | 2414-1 > a7 8l 1 %"2?&;%1’51
1- 5/942-1259 414-2 HH - 5X19 3 )

1- 6/811-2119 401-2 FAny—n TC 25387 1
1- 7/939-3024 414-3 F—Rp—5x7Y 30204 1
1- 8/929-1111 408 FES (AVEAR) Mz20 2
1- 9]/702-3203 412-1 U4 — AFEY 1
1-10|938-1134 414-4 K—A=T) g 6304 1
1-11{002-4020 402 U —sFry S 1
1-12{910-4191 401-5 ABRfFER Y M8 X8 1
1-13{002-4150 2415-1 *— A 1
1-14002-4330 433 Ty va 2
1-15/811-2119 401-2 AAny—n TC 25387 2
1-16|702-4203 412-2 Y oa— sk — 1
1-17/002-4070 403-3 Ky Fy 1
1-18|002-4030 403-1 Y — ARy 7 XD 1
1-19]936-1025 415-4 S AS S-25 2
1-20(901-2034-B| 403-2 Aa b ( SWH) M8Xx25 3
1-21,951-1016 401-6 0>z P-16 1

2 002-4270 427-1 7 ry 1

3 901-4032 5643-4 PN M8X16(8T) 2

4 002-4050L | 1405-2 A—#H(E) 1

5 002-4050R | 1405-1 " (A) 1

6 824-2491 1406 ve—ty (EE A 2

7 002-4050L | 2405-2 =4 (E) 1 B

8 002-4050R | 2405-1 " (A) 1 ”

9 004-4350 | 2435-1 P4 Fhy & 2 "

10 824-2491 2435-3 vr—vr (g F) 2 ”

11 004-4130 2413 #— 7 1 ”

12 936-1025 415-4 CHil A8 S-25 2 ”

13 826-5125 414-5 VL7 5yoHRT) vy ra=y b ASPFL 205 1

14 826-5425 415-2 " CSPFL 205 2

15 906-1223-D| 414-6 ARATERL P (N. SWH) M8X 20 6

16 704-4203 - | 2410-1 V- 8A-2 1

17 910-4118 5410-2 NARSER Y M8 X12 2

18 831-2341 410-3 Vb A-141 2

19 941-1119 414-7 F4F%— TXTX40 (FEAL) | 1




s
E
X

Iv¥ar Assy

R (bR )

1
1-1 NN E = 1
1-2 AR F— 5X19 1
1-3 " 3x13 1
1-4 K=ART )y 6304 LLU 1
1-5 B 2 1
1-6 FANy—n AD20307 1
1-7 NRAFY KRy 7 X 1
1-8 |901-2034-B Kb ((SWH) M8 X25 4
1-9 1

_8_




300

e . . .., 488
v ariEl 588
hva =]

L6 %?gaz'i%;; %E%[Sn"u%% B A B S e N
1-10|938-1123 | 1270-2 K AT | 6203 1|
1-11]929-1109 1237-5 FrES (L) M16 1
1-12|702-2401 1240-1 RV =4 v 16T 1
1-13|936-1012 | 1237-4 CHik A8 S-12 1
1-14/002-2750 | 1275 Ry x 1
1-15/002-2730 | 1273-1 *xr v 1
1-16/901-2015-B| 1273-2 Ak ( SWA) M6Xx12 4
1-17{002-2340 1234-1 NNV R A — VBl 1
1-18|942-1236 | 1234-2 A H x— . 3X16 1
1-19|942-1259 | 1234-3 " 5X19 1
1-20/002-2330 | 1233 25y F 1
1-21|702-2402 | 1240-2 RN KA — 1 42T 2
1-22|002-2900 | 1234-6 2SR NIy vx 2
1-23|002-2740 | 1274 Ay 2
1-24|002-2710 | 1271 R R A -2 () 1
1-25/002-2720 1272 " (&) 1
1-26|951-1012 | 1271-5 oy P-12 2
1-27|811-1107 | 1271-3 AANy—n SC17306 2

. 1-28(938-1723 | 1271-2 K—=ART7Y) > 6203LLU 2
1-29(901-2016-B| 1271-4 A b ( SWH) M6X16 12
1-30[931-1117 | 1234-4 2T) ey 3x25 1
1-31|931-1115 | 1234-5 " 3X20 1
1-32(002-2300 | 1230 EFFZ Sy Fva— 1
1-33|706-1109 239 27 v 1
1-34]825-0001 1230-4 I 6.4 2% 1
1-35[931-1126 | 1230-3 2T vy 4X32 1
1-36[002-2960 | 1272-6 BN : 1
1-37/951-1016 | 1270-5 oVrz P-16 1
2 703-2202 | 1236-1 XTByry pk4— N #40-13T 1
3 703-2201 235-1 " © | #40- 8T 1
4 002-2310 231 b N 1
5 002-2320 232-1 ks ¢ 1
6 916-1206-B| 232-3 v F ( SWAH) M10 1
7 704-1204 410-5 V7= 8A-1 1
8 910-4118 | 5410-2 KA LAY : M8Xx12 2
9 831-2340 410-4 Vv b A-40 1

10 002-4210 | 1421 Frvavkag(7Tay) 1

11 002-4200 1420 " (FEFT) 1

12 938-1723 411-2 N A 4 6203LLU 4

13 002-4110 411-1 Frvay7s—Y)(Fay) 1

14 002-4320 432 " (#EF7T) 1

15 002-2480 248-1 vy e S REh 1

16 002-2500 248-4 h5— 1

17 929-2206 248-3 SEEE S M10 2

18 930-0230 248-2 £ 3%25 2

19 002-2550 255 ES AP 1

20 002-4240 424 25y FAr A 1

21 929-1207 424-3 FEES (ANEH) M12 1

22 930-0228 424-4 E R 3X20 1

23 002-2190 219 ' b 1

24 002-4250 | 1425-1 7y ) 1

25 929-2204 | 1425-3 SERES M6 2

26 930-0228 |1425-2 % 3X20 2

(\ 27 002-4230R | 423-2 Frvar—(F) 1
28 002-4230L | 423-1 " (&) 1
29 801-1220-F| 423-3 Kb (W. W. SWHH) W3,8X20 2

.._9_



300
488 _
588 FSA4272S+v7b, 25 vFER




300

R 488
FZA4T7>vZ7 b, 25 vF8E8 588
hva [=] =}
R %T%BZ;%—;; %E%Bé;?%% L ﬁ B ER . i =
1 002-2040 | 1204-1 2 i 1|
2 941-1192 1204-4 FATx— 6X6X40 (FA) | 1
3 942-1259 | 1204-3 ¥R x— 5X19 1
4 002-2050 205 25y F 1
5 936-1020 1204-2 CH#iE A 8 S-20 5
6 002-2870 206-4 B’ 4 3
7 002-2060 206 x7ayry bk —n(Fyvaft) #40-27T 1
8 002-2070 207 " ( " ) #40-20T 1
9 703-2204 208-1 " #50-10T 1
10 002-2090 | 2209-1 hv o R 1
11 004-2090 2209 " 1 | B¥EA
12 004-2120 | 2209-3 h5— 1 ”
13 004-2100 | 2209-5 EVEYER 1 ”
14 828-1117 | 2209-4 Ty va 2 ”
15 004-2130 | 2209-12 h 35— 1 ”
16 832-4132 | 2200-5 n—S5Fx— #50-324 1 ”
17 832-4132 | 2200-6 " ” 1 ”
18 002-2860 1204-9 2~ 1
19 | 002-2850 |1204-8 " 1
20 832-3134 235-2 n—5Fz—> #40-344 1
21 832-3132 | 1236-3 " #40-3224 1
22 832-4132 | 1209-7 " #50-324 1
23 832-4140 208-2 " #50-404 1
24 826-5424 1204-5 VL7 IRRT) 2=y b CSPFL 204 4
25 906-1223-D| 1204-7 BRALEXL P (N. SWAH) M8X20 8
26 1203 77y Fva— Assly 148
26-1 |002-2030 1203-1 Voa— 1
26-2 | 901-2035-D| 1203-2 ®r b (N. SWA) M8x30 2
27 002-2190 219 B 0 1
28 002-2020 202-1 PR S NP 1
29 901-2033-D| 2202-2 A b (N. SWAH) M8 X 20 2
30 002-2210 221-1 Ny Pk L : 1
31 901-2033-D| 221-2 Kb (N. SWH) M8x20 2
32 002-2200 | 2220-1 H. L~>Far 1
33 929-2206 220-4 VRS Mio0 1
34 930-0230 220-5 gy 3X25 1
35 832-4134 | 2200-4 B—5Fx— #50-344 1 | mem




B

—_——

488
588 70O




300

_ 4, 488
/n—5—%8 s88
w & F OS5
RHiss THaEE | DHREE B OO& & # | B | % =
1 |002-2110 |1211 7 v — 5 BREhHh Ik
2 004-2110 2211 " 1 | B¥EB
3 826-5425 218-4 OL75YIFRT) 2=y b CSPFL 205 4 |
4 002-2890 218-3 ho— ‘ 2
5 002-2610 1261-1 T =P 1
6 002-2190 219 =) 1
7 002-2170 1217 sm—57v—n (%) 1
8 002-2950R | 1261-3 * v(h) 1
9 002-2950L | 1261-4 " (&) 1
10 929-2209 |1261-8 SEER S Mi6 4
11 804-3206 1261-6 Fv b W5/8 (3f8) | 2
12 804-3206L | 1261-5 o (EXxY) Ws/8%£( 7 )| 2
13 910-4108 1261-7 NAFRSTIER Y M6 X8 4
14 002-2590 1259-1 X7 wy oy bR — N 2
15 936-1025 |1217-9 CHik 2 8 §-25 2
16 953-1102 | 1259-2 ISV —R=9 T | PT 1.8 2
17 002-2120 |1212-1 TRy bk —n 2
18 824-1233 |1213-1 Fft e 10X65 2
19 930-0230 |1213-2 E[REEY 3X25 2
20 906-1223-D| 218-5 ABRNERL P (N. SWH) M8X20 4
21 901-2074-G| 218-6 A b (N. W. SWHH) M12X35 4
22 901-6582-A| 218-7 r (NAH) MI2XP15X75| 2 | 4%
23 1002-2180 218 sm—357v—au (#) 2 | EA&LY
24 002-0240 215 /m—35 Assy 28
004-0240 " 240 | Bm
24-1 |002-2150 215-1 sm—35~n} 4
24-2 |002-2140 214-1 VARES 34
24-3 |002-2880 214-3 B 4 68
24-4 [901-2017-D| 214-2 Kb (N, NERERMSESMS) M6x20 128
25 004-2160 216-1 IV (4T 2) 34 | EEEM TR
(26) 901-4019-D Fu b (N, NEHELESM) M6x30(8T) | 8 |zm—5~n}
DB B




good newdays

ARSLUGELVERRE

e

BRFTT KRXESH v+ e
AERELS
RREEXZ#I-6-38 T105
TEL. (03)452—4311 (KR %K)

BLET BARFEMKEARH




